Honors Algebra 1
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Chapter 9 Factoring PRACTICE Test (circle final answer) Date

ALL PROBLEMS ARE 6 POINTS

Factor each completely.
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Selve each equation by factoring. Remeber to use your calculator to check in the original

equation!
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(page 2) Solve each equation by factoring. Remeber to use your calculator to check in the

original equation!
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(page 3) Solve each equation by factoring. Remeber to use your calculator to check in the
original equation!
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BONUS (4pts) Solve equation by factoring. Leave sclution(s) as fractions. Don't forget to

check.
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